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(59 k) Aaia) lin o) 535 ¢ 3

Zaad sl AaY) 0

e
: 1 £ g sall) LlAY) walic -
F o | Toas (A g pasal) o) ja 6 3 3ad
POl Y ge de lua =1 (1= 11
0,25 By
PV,=nRT=n=-11
RT
P, =1atm =1,013x10°Pa
V, =245l =245x10°m?
T = 254273 = 298K
0,5 1013x10°%x24,5%10°
n= =1 mol
8,314x298
<4l cas X JL:J'I pa —
PV
0,5 PV, =P,V, = V, =L
2
0,25 \/2=1><24,5:=Z45L
W Jeadl lsa —2
dW = —PdV
3
PV =nRT = p="RT
Y,
w= [ nRTY — nrT[“ Y
vy vV v\
0,5 W =-nRT Inﬁ
V1
W = —1 x8.314x298 In 222> _ 570482 J
245
0,25
W = 5,705 kJ
0,25 AU=0 UJS_\MboJL);AAJJm
rhalicaty) o6 Alalitall 3 ) jal) du€ —_ o
0,25
' AU=Q+W Ll
0,25 0=Q+W-=>Q=-W=-5,705kJ
: 05l W dead) il (2
0,5 W= 'PextAV = 'Pext(VZ 'Vl) U)S-’ “—"-‘L’ daria i
0,75 W=- 30x1,013x105(10'3 - 0,9x10'3)
0,25 W =-303,9 |
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